Analytical Solutionsto Eqgs.1 &2
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When an equation for GFP :
d
E GFP = IRES x ktr x Taty — y GFP

is included in the system of equations the solutions for
Tatp(t) and Tat4(t) do not change and the solution for GFP(#) is :
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(kfmo +
(=20 + 6 kgirry + 4 krr)
kp300 + (0 — ksirm1 )’))

For simplicity we can substitute numerical values into
the above solutions to obtain the following:

Simplify[gfpsolns //. {kp300 g .01, kSIRTl g 1, kTR - .1, o 2, b g 0.5, IRES - 10}]

{{Tatp (r) » e 297 ((0.989141 + 0.0108591 '8 ) ¢, + (—1.08698 + 1.08698 &' 198 7) ¢,),
Tata () » e 2% ((-0.00988164 + 0.00988164 ¢ 1198 1) ¢, +(0.0108591 +0.989141 1'% 1) ¢,),
GFP(t) - e 2291 ((0.00658342 — 0.0202074 118" +0.013624 €' ") ¢, +
(=0.0072346 — 2.02274 €181 4+ 2.02997 ¢! 1) ¢, + 1.0 ¢5)})
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